shimEE BN REXH Y — T

&
11A178 E6HT BT
& 1z % A & Ha b =2t T
1 AR O—XITXRTA 47.0 22,524
2 FSUTYIURA 42.0 22,303
3 JEEERITA 41.0 22,065
4 BNEHEE A 40.0 21,590
5 ERMEZFATA 39.5 22,019
6 IRIGEH 39.0 21,698
1 ERMZFTB 36.0 20, 792
8 EEEARIIA 35.0 22, 266
9 aAVYREA 33.0 20,878
10 b 2 EHEIR 29.0 21, 369
11 tEER1TB 26.5 19, 269
12 FBRIE 26.0 20, 736
13 AR O0—XITX%RTB 24.0 20, 432
14 IR A —ILITE 23.5 19, 045
15 ZHETIXA 23.0 20, 462
16 aOvYREB 23.0 19, 482 3 6
17 JEEENRINB 16.0 19, 645
18 STV UAB 15.5 19, 724
19 BINERF 12.0 14, 435 6 22
20 EZHEITXB 10.0 17,795 3 6
21 [EWNEE ] 6.0 17,093
22 BNEHEB 6.0 15,039 9 22

H/ G RIFEHH 7 47

593.0 P




THxE RBIRRREIV—T (BAF—LU—TH)
5 6 @i @ XWHAAHEAR
£ 15 aA0FFvybRIILER

B1YIk

i AN A& MAME" Y RS e Mty = ON A&
AIEHEESA ( 1,107) 3 — 0 ( 1,082) rFIE#WER
FEEARNIB ( 1,042) 0 — 3 ( 1,0905) JLEAIEITA
BIELEEB ( 84) 1 — 2 ( 929) AINEFT
EHEI T %8B ( 663) 0 — 3 ( 1,080) /MRAYA—ILTHE
EAIXE ( 1,184) 2 — 1 ( 1,053) AHAO—XT%FMB
®IR™M&ZFB ( 1,047) 0 — 3 ( 1,244) FSUTYURA
O VEEB ( 1,111) 3 — 0 ( 1,0600) rSoTvIRB
[EPNEL ] ( 1,104) 0 — 3 ( 1,140) AHRO—XTEFRA
FEEEEARIIA ( ,112) 1 — 2 ( 1,113) avYEEA
& IRM&FTA ( 1,076) 25 — 0.5 ( 1,069) HLEEER{TB
IRIERR ( 1,068) 2 — 1 ( 1,007) ZHEBITZEA
g2Y7F

i AN A& boE" Y Bm e My E= AN A
RIEHEEB ( 8718) 0 — 3 ( 1,161) £RHEMA
[EW L ( 917) 1 — 2 (  99) rSUTVIAB
FEEFEARIIA ( 1,167) 3 — 0 ( 1,116) FBIEHBEA
aATYREB ( 1,009) 3 — 0 ( 938) AMAO—XTEMB
INRDOA—ILIE ( 982) 0 — 3 ( 1,043) &RMEFB
P S ( 1,237) 3 — 0 ( 1,168) ;EHEITEA
EHETEB ( 642) 0 — 3 ( 1,117) JLBETA
JLEISR1TB ( 1,172) 3 — 0 ( 1,101) JcEBHRIIB
BINEF ( 992) 0 — 3 ( 1,056) IRIERHH
FIE@EIR ( 1,136) 1 — 2 ( 1,181) AHRO—XITEFRA

S TYORA ( 1,226) 3 — 0 ( 1,010) avvEEREA




KATE RIIREEHRV—T (BAF—LU—TH)
% 6 B @ WHAHEE=R
£ 15  aAFFvYbRVILER
E3VI b
= AN & ST VI 5= e bty E AN &
ZHRIEA ( 1,065) 0 — 3 ( 1,205) JcEAERTTA
EEEARIIA ( 1,326) 3 — 0 ( 964) AINIIRLBEB
EIRMZFB ( 1,284) 3 — 0 ( 1,087) AtHARO—XT%FMB
EIRTERFTA ( 1,198) 2 — 1 ( 1,150) A#HRO—XTEMRA
FIEEEIR ( 1,067) 3 — 0 ( 1,008) /MMAIA—)LITE
BINEF ( 1,039) 3 — 0 ( 642) ZHEIT%B
[EW L ( 8%0) 0 — 3 ( 1,000) FERITB
BINEHEEA ( 1,064) 1 — 2 ( 1,09) avTYEZEA
IRIERF ( 1,147) 1 — 2 ( 1,160) FSUTYIRA
cSUTYOAB ( 1,090) 2 — 1 ( 1,066) dpEEAHRIIB

EBAIE ( 1,082) 3 — 0 ( 969 ) aTVEEB




